Name: . Geometry Mid-Term Review

Y¢ Exam Date:

v Exam Format:

Part I: 39 multiple choice

Part II; 10 Matching Statements to Reasons
Part 111: 18 short answef

Part IV: 2 Proofs

Part V: 2 Open Ended Problems

Y You will be allowed to use a scientific calculator for this exam.

71 also plan on doing the following to review for the exam:

O Reading through notes.

O Re-doing previous class/home work problems.
O Re-doing previous quiz/test problems.

O Reading my textbook.

O Using online resources/videos.

O Seeing my teacher to ask questions.

O LOOK OVER ALL MY PROOFS!




Coplanar
Collinear

Skew -
Midpoint
Perimeter
Angle Bisector
Complementary
Supplementary
Linear Pair
Vertical Angles
Adjacent Angles

Opposite Rays

Acute, Right, Obtuse, Equiangular

Scalene, Isosceles, Equilateral

Triangle Sam Theorem
Exterior Angle Theorem

Base Angle Theorem

Converse to the Base Angle Theorem

Definitions & Terms {o Know! -

Logic Statements (if-then, converse, inverse, contrapositive)
Counterexample |

Slope-intercept form (y = mx + b)

Ray, line, segment, point, plane notation

SAS, 888, ASA, AAS, HL congruence theorems/postulates
Segment Addition Postulate

30-60-90 Triangles

45-45-90 Triangles

SOH-CAH-TOA

Slope (formula, parallel lines, perpendicular lines)

Parallel lines
Perpendicular fines
Transversal

Alternate Interior Angles
Alternate Exterior Angles

Consecutive Interior



Mateh each of the following vocabulary words with jis definition.

a. line segment d. point
b, line ¢. parallel lines
¢. obtuse angle f.  perpendicular lines
1. astraight path that extends without end in opposite directions
2. apartofaline between two endpoints
3. anangle whose measure is greater than 90° but less than 180°
4, two lines that intersect to form 90° angles
___ 5. anexact location in space
6. two lines that never intersect
Match each of the following vocabulary words with its definition. .
a, right angle d. angle
’ b, ray e. plane
c. acute angle
1. apartofaline that staris at one endpoint and extends forever
8. anangle that measures 90 degrees
9, afigure formed by two rays with a common endpoint called a vertex
10 an angle that measures less than 90 degrees
11. a flat surface that extends forever

2. Use the diagram to hame each geometric figure.

{A) name three coplanar points.
(B) Name two lines on the figure.

{C} Name a plane on the figure.

(D) Are points G, B, and D Cotly N

3. Classify each angle acute, obtuse, {7} C3h§* or straight.
) | ()

(A) (8
/ ’\ |

o

N




4. Classify the pair of lines as intersecting, parallel, perpendicular, or skew lines.

{A) e (B}

:\—..w,_,,,,..z/r

(C)

6. E is in the interior of < KLM.
fm < ELM = 78° and m < KLE = 95°,
Then m < KLM = °

7. fm < NMB = 62°and m < NML = 162°,

F‘z 'f""‘%.{‘,‘f,l A ML

8. Two angles < ABC and < CBD are supplementary.
If m < ABC = 62°, whatis the m < CBD?

9. Two angles < ABC and < CBD are
complementary. If m < ABC = 71°, what is the
m < CBD?

10. If QS bisects ZPQR . Find the measure of ZPOR

11, m<X =

m<Y=

m<ZzZ=

What is the relationship between < X and < Z7

What is the relationship between < X and < Y?




12. Point M is the midpoint of YW.

13. I H is the midpaint of TE, and TH = 18, then

Find the length of VM. TE =
b — % Ix+3
» 3 % $ @
v M W
14. Classify the following triangles. 15.

(a) A triangle with sides 5°, 5”, and 5" is

(b) A triangle with angles 90°,45°, and 45° is

(c) A triangle with sides 3", 4", and 9" is

(d) A triangle with angles 50°,60°,and 70° is

(e) A triangle with sides 8”, 8", and 12" is

(f) A triangle with angle 115°,35°, and 30° is

(a) The intersection of two lines is a

(b) The intersection of two planes is a

16. ms1=5%x—-7, X=

1321

17. Given: £ || £,
(a) What angles are congruent? And Why?

{b) What angles add up to 180°7 And Why?

L

v




18.

Use thie figure:at the tlght to answe

problems 1-8.

Classily each palr of angles aes otie ot the following::

{a) Aiternate itterior angiss
{0) alterhale extetlor angles
(&) -atfsppfemaz:ﬂaryf-angffig_s
. 498216
e 215821

PRENTPE SRR

4, 212 & 215

(b) correaponding angles
(dl) verfical angles
(D rohe |
5 £9%1L
6. £9&LIS
7. A13&Z1A

B LMR A1

2110 1

4
:

15 {e 1500

g

19.
W12 = 97°

M3 e
mZ10=__

MaY =

M6 = 83°

mash = __ .

mL7 =

et

MAB =

A

20. Find the value of x given that st
(A) MZ4= 779, mL8 = 4t + 67

B) izt =BX- 5, LT = 1157




21.

Given /|4, findthe m/1.

[ 1/

9x +12
x+24

P

1% 7

22. In the diagram, if a{|b and m < 1 = 43°, what is
m<7?

?/;
<4 b

a
5/ 86 i

23. Find the val ue of x.

4

S 10y
o J1ix-g _

24, Find the value of x.

L Léx+2
TR /‘%‘{3.{;l

25. Find the value of x and y.




26. I AABC = ADEF,

(a) Name all the corresponding angles:

(b) Name all the corresponding sides:

27.
(A) If ATGS = AKEL, which angle in AKEL

corresponds to 277

(B) IfATGS = AKEL, which angle in ATGS

corresponds to EK?

28. C.
=, | .\\u{ 5 o &
F %““x\% 'mf{f”
o

(a) What theorem or postulate proveé that the
triangles are congruent?
Circle one: SAS SSS AAS ASA HL

(b) Write a congruence statement

29. R D

|
.

(a) What theorem or postulate proves that the
triangles are congruent?
Circleone: SAS SSS AAS ASA HL

(b) Write a congruence statement

30.

=
(a) What theorem or postulate proves that the

triangles are congruent?
Circle one: SAS SSS AAS ASA HL

(b) Write a congruence statement

31. A
N D
}{\'\ iw ;{\.«""H '“ -
/ . .uﬂ-”:;&c‘;w" E
. . -‘”"'-M'.W \ \-\Y\
i ‘\,\é %:_

(a) What theorem or postulate proves that the
triangles are congruent?
Circleone: SAS SSS AAS ASA HL

(b) Write a congruence statement




32.

(a) What theorem or postulate proves that the

triangles are congruent?
Circle one: SAS S8S AAS ASA HL

(b) Write a congruence statement.

33. Quadrilateral MNQP is made of two congruent
triangles. NP bisects N and £P. In the quadrilateral,

msN = 38° and mz2P = 104°.
N

What is the measure of 207

J;%

34. Triangle XYZ is a right triangle. Find m/Y .

Y

36. Find msS.

RA:;’Z\

m}“\
\{E

37. Find msC.

¥
A

-2

c R T I




38. Find the value of y.

39. In the triangle, m£B =
A

56

40. Find the value of x.

£

N“»\I ; i
X,
T TE
>

41, (a) Find the value of x.

x+7

(b) Find the perimeter of the triangle.

42. Find the value of x and y.

43. Find the value of x and y.

1::21?/

¥ 57°

/N,




44, m<1= and m<2=

45, Find the value of x and v.

46. Find the value of x.

105°/

A

47, Find m < A,

48. Simplify.

(A) V12 (B) 8200
C V8 D =
(C). 5-2v8 (D) 7

49. Find the value of each trigonometric ratio.

(A) sin

e ¢
g //
/’ 45

tan X

44 &




50. Use Special Right Triangles to solve the following problems. Answers should be in simplest radical form.

(A)
% Ny
X
©)
¥
x 80 ¢

(B)

/

£/ Ay

fe o)

(F)

51. Use SOH-CAH-TOA to find the missing side or angle. Round all answers to the nearest tenth.

(B) P
24 o j
Py r

22




25 Xl 170

52. A spectator in the stands spots the team mascot on the field at an angle of depression of 46°. If the
spectator is sitting 35 feet above the ground, what is the horizontal distance between the spectator and the

mascot?




53. The angle of elevation from a soccer ball on the ground to the rop of the goal is 34°. If the goal is 8 feet

tall, what is the distance from the ball to the goal?

54, Jada is standing 10 feet from the base of a tree and spots a nest sitting on a branch. The angle of
elevation from the ground where she is standing to the nestis 55°. Find the height of the nest.

55. A surfer is riding a 7 foot wave. The angle of depression from the surfer to the shorline is 10°. What is the

distance from the surfer to the shoreline?

56. Given the equation y = Zx - 10

(a) What would be the slope of a parallel line to the
given equation?

(b) What would be the slope of a perpendicular line to
the given equation?

57.. What is the slope of each line.

(a) (b)

58. Find the equation of the line through the point
(-2, 3) and has a siope of —-i— .

59. Find the equation of the line through the point
(-3, 5) and has a slope of -3.




Distance Formula = /(x; — %) + (71 — 72)% Slope = =2 Midpoint = (X172, 2122%)
A2
Find each of the following given the points: A (6, 6) B (3,9 C(-6,1) D (9, 11)

60.)

61.)

62.)

63.)

Distance between A and C.

Slope of AB.

Slope of the line perpendicular to 4D

Find the coordinates of the midpoint of BC




64 65.
: Givens L is the midpoint of T o
TR KA Given: DA || ¥V b A
© Prove: ATKL = AMNL DA = YN
. Prowed Prove: £4NDY = ZDNA :
Btatements Beasons Proof: ¥ N
1. 1 is the midpuint of Ji, 1. Given Statements Roasons
o 2. Dafinition of midpoint 1. DA ¥ 1. GHven
3 JR I MR 3. Given 2. 2. Alt. int. 4 are =2,
4, LJEL = LMNL 4. 8.0 =YV 3. Given
5. 5. 4. 4. Reflexive Property
6. KL = SMNL G 5. &ANDY = ADNA B.
6. £LNDY 5 LDNA 8.
66 67. 1 \‘& o B
Glver: A = CP AR § T
Given: AQRSis isosceles with OR = SR Prove HACD = AITAB
RT visects J35 at poit T Np
Prove: AQRT = ASRE
i 8 . !
3 ]
} . i R 2 H
) A
2 Z
Z. ‘
- 2
. L
4 oy . f
- ly
C:) i e ;, 3
68. 69. & A
. ' dven: /2 = o0
Given: OO0 bisects A%, AT | G 8 o o <«

ZH = LR
Prover AABC & ACDE

5 2
K kS
t{ . k‘.g ,

o
o

AR bisects £2KC.
Prove: AAKZ = AARC K

2., 7
3 <
Lg L; ‘
5, .




